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3033 Business & Industrial Economics-l
Time: One Hour Max. Marks: 50

Instructions :
Solve any 25 questions from Q 1 to Q 30

Solve any 25 questions from Q 31 to Q 60

(A)Introduction to economics (B)Principles of economics (C)Classical economics (D)None of these
AT AFT JEdd fefae. SCHTIA T e TEdd feAfae. SITEATT ST9TET AT ATE

2 _ isan objective of business firm.
_ EEE e 3fe E.

(A)Profit maximization (B)Sales maximization (C)Shareholders wealth maximization (D)AIl of these
TR AR THIST [EEIR:ERsEIETaus VTSR =AT S Hg T Hehe00 FOATH T

3 ... is the basic economic problem.
...... & AT AT F9=r 9.

(A)Inflation (B)Unemployment (C)Poverty (D)Scarcity

4 Economics is a science.
I TF [ESIGEC I

(A)Social (B)Natural (C)Political (D)Perfect
ELIRED T T Ty

5 Micro-economicsis ___ oriented.
TeTAET TS e

(A)Individual (B)Whole (C)(@) & (b) (D)None of these
e IR STt TS FOTTET ATAr

6 The function of bringing together the sellers and buyers of goods is done by

T UTEdh T (aohcl AT The S0 T BT &l ST

(A)Shares (B)Gardens (C)Colonies (D)Markets
Laic T TEET TS
7o is the father of Micro-economics.
..... T G ST ETEATT ST HIA S
(A)Adam Smith (B)Kautilya (C)Dr .Marshal (D)None of these
8 Business Economics helps in —
(A)Decision making (B)Future planning (C)Policy making (D)AII of these
Frorar gt TAT FAETS T T Fvor oy ffe=dr RIREIR )

9 Which of the following is included in Macro economics :
I ST ITEATT AT FHITET FHTEIT BT

(A)Theory of distribution (B)Theory of income and employment (C)Theory of economic growth (D)AII of the above
[EEACICINSEALE IJET=T T TSI frgre AT AT Fgi FEATH TS

(A)Over thousands (B)Few (C)Innumerable (D)Countable
EANTAT FEr ST AU AT

(A)Scientific (B)Moral (C)Natural (D)Unreal
ST BIsED BN ETeaT

(A)Choice and preference of consumer(B)Prices of goods x and y (C)Consumers income (D)None of these

UTERET fES T IEar X Ty TE=AT e TTEE JeT=T RIEEICIEE
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(A)Allan Hicks (B)Dr. Marshall (C)Prof. Edgeworth. (D)None of these
o AT e =7, qTeeT AT U RIEEICIEN

14 Indifference curve is .......

(A)Negatively sloping (B)Concave to the point of origin (C)One single line (D)None of these
HUTeHS 3T I e A e T¥e5 YT RIEETEIE

15 Buying behavior is the study of .
TET AU & AT I A,

(A)Goods (B)Services (C)Consumers (D)None of these
Elt Far FTHTEFT T FOTCET ATAT

(A)Lower level of satisfaction (B)Higher level of satisfaction (C)Same level of satisfaction (D)None of these

U {ET ITaesn GHTHTTET 359 TTdesr FETTTET GH qTefest RIEETEIE

(A)Satisfaction (B)Necessary (C)Useless (D)Useful
FHTIT ATIIH AeTaRTT ITLFT

18 Diminishing marginal utility is the basis of .......
ST ST SUATNTET ST ST ST,

(A)Law of demand (B)Law of return (C)Law of supply (D)None of these
AT =T AT FEET EST FAET RIEETEIEN

(A)Increasing (B)Equal (C)Minimum (D)Highest
aed HT e Tarfas

(A)Indifference curve (B)Indifference map (C)Budget line (D)AIl of these
21 Two indifference curve cannot cut each other because........
(A)They slope downwards (B)Each indifference curve represents (C)They are convex to origin (D)None of these
T | 9T a different level of satisfaction T e qlga+h AT T ATE
TeIF TEEIdT a5 GETIEET =T
e auaT

(A)Price effect (B)Income effect (C)Clarify the rule of demand (D)None of these
e afomT Feq—T TR AT fEE ESE F:r T ATET
23 The law of demand states that an increase in the price of a good:
ANTOT=AT Frg arg e, Siear aoqar mHd ated e -
(A)Increases the supply of that good. (B)Decreases the quantity demanded (C)Increases the quantity demanded of(D)None of these answers.

T T [YEeT aedr for that good that good. AT FOEr ATAr
T FEET AT HAT AT T FEET AT 1@
24 ... introduced the concept of Consumers surplus.
ITHTFAT=AT HATI = FHET T e, AT
(A)Marshal (B)Hicks and Allan (C)Duplicity (D)AII of the above
e feaa sfor o7 & sfie IS T ST

(A)No barriers to entry (B)Many substitutes (C)Many suppliers (D)One supplier
TV ASH 5 THAAT AR T EEERRCCICH & [TESTRET

26 elasticity of demand is based on price of substitute goods.
ATV AdREeEdT (g T g =ar AdraT sArdaTid s

(A)Price (B)Income (C)Cross (D)None of these
e FeT=T Cxcoisieacs T FOTTET ATET

27 Demand of salt is

e AT T
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(A)Elastic (B)Inelastic (C)Increasing
EIcED ECiECn areEdr
28 Which of the following goods is the best example of natural monopoly?

FTEATeT T FVET T AT AR =T 3TH JaTEI0T AR ?

(A)Natural Gas (B)Diamonds (C)A patent goods
Fafita ary & TEE T

29 In perfect competition........
TR B

(A)There are significant restrictions on (B)Each firm can influence the price of (C)There are few buyers
entry goods. T WSS,
EERIESCI VIR T & T AT FAray TR

FE Y@

(A)Elasticity of demand for commaodity (B)Elasticity of supply for commodity (C)Size of market

TELAT ANV AT BT T AT TASATAA AT T AT A
31 Goods in perfect competition are........

O ST T o HEATT
(A)Polymorphic (B)Homogeneous (C)Mixed

agear TR fFrr

(A)Sales (B)Market price (C)Betting
fa=r AT T SECEIE
33 There is only one seller in competition.
o ue e
(A)Oligopoly (B)Monopolistic (C)Monopoly
EIEECIEC EESPES AFdET
34 34) _ is featured with complete interdependence within business firms in business decision making.

SATEETIE AU SamT fafa Seme== o e e AT § = FfarseT =%

(A)Monopoly (B)Oligopoly (C)Perfect Competition
35 Freedom of entry and exit is feature of ___ market.
sTHE w9 T T AT S ATIreT =7 .
(A)Monopoly (B)Perfect (C)Oligopoly
T o et
36 Different market structures affect _ of buyers and sellers.
FTAT=AT fafaer Ge===T e STirear onfor fesrar ar=ar _ av &
(A)Behavior (B)Income (C)Health
T IeT=T ToAT
37 In ___ market the manufacturer of goods exercises complete control on supply of goods.
__ Wog IoTEd areg =T TS TaT O RIS,
(A)Perfect competition (B)Qligopoly (C)Monopoly
TOT ETHT EIEIEELIIEEIAS HFIET
38 Imperfect competition was introduced by ......
FIU ETHT ..o TG E Fiedl.
(A)Chamberlain (B)Marshal (C)Keynes
EELTIES AT e
39 The slope of indifference curve indicates........
FEEIAT ThAT IAT ... FyTfaar,
(A)Price ratio between two (B)Marginal rate of substitution (C)Factor substitution
commodities TEAET FHTT & Prca-rod
T T T e o
40 Risks in the business arise because of.........
......... b AT SIEHT T,
(A)Introduction of the new products.  (B)Uncertain policy of rival firms (C)Fast changes
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(D)None of these

T FOTCrar ATar

(D)None of these
RIEETEIE

(D)AII firms in the market sell their
product at the same price.

TSI oAl AT IcqTa=

U FAATAT fashar.

(D)AII of above
IS I T

(D)None of these
RIEETEIE

(D)None of these
RIECTEIE

(D)AIl of these
RIEETR

(D)None of these

TTTE FOTA ATA

(D)None of these
Rk et

(D)None of these

AR A A

(D)None of these

RIEENC IR CE G

(D)None of these
T ATE

(D)None of these
T ATET

(D)AIl of the above
T T AT



(A)Inelastic (B)Elastic
ECicCn GEIcED
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(C)Aand B
sy erfora

(A)Malthus (B)Record (C)Dr. Marshall
43 The relationship between price and demand is.......
AT T AT AT A TTETTET ST
(A)Direct (B)Inverse (C)Personal
T e St
44 Demand for essential commodities is .......
ST E aeqaT AT . HET
(A)Less elastic (B)More elastic (C)Inelastic
FAT AT ST AaEE TR
45 Price elasticity of demand is related with .......
(A)price (B)Income (C)Expenditure
e EisE KD
46 The law of demand is based on the principle of ......
ATTOET A L fErgaTaT e o
(A)Price (B)Declining utility (C)Supply
fedr=aT T IATHT=AT TESIT=AT
47 The demand for alternative goods is ......
AT FETET AT T
(A)Elastic (B)Inelastic (C)Less elastic
CEIcED AT FAT AR
48 Standard of living of a country can be raised if ........ is increased.
......... G T TR S9Ta.
(A)Lab our force (B)Production (C)Money supply
FHEIT ST Eisico T WaeT

49 The Marginal Productivity theory of Distribution was proposed by-

(A)Adam Smith (B)Peter Drucker (C)David Ricardo (D)AII of these
tree ferr v 3T s farst A TS
50 Interest is earned on-
IqT FEFaT AT Fed.
(A)Lab our (B)Land (C)Capital (D)None of these
srfer e wisaer A AT AT
51 There is ........ demand for manufacturing components.
ITIET FEH T ... AT STET
(A)Direct (B)Indirect (C)Plenty (D)None of these
soTer BRI By RIEEICIEN
52 The productivity of an input factor is the change in output resulting from employing one more unit of that particular input.
TH Fea=aT TRATINE U AT aT& Hiell AT TR JCTATT ST I[G, MY IS [ell car Jed=r _ Ieqaahdl 19 FRurdrd.
(A)Average (B)Marginal (C)Total (D)None of these
UL grare T A A ATar
53 Capital is the ......... component of production.
ST & ITHEATT .....o... ok
(A)Man-made (B)Natural (C)Aand B (D)None of these
EIECIIELE EEITED sramfor T T ATE

(D)None of these
A ATE

(D)None of these
RIEETEIE

(D)Social
lEED

(D)None of these
RIEETEIE

(D)none of these

T S A A

(D)None of these

RIECIE I

(D)More elastic

ElisBCIEED

(D)Exports
R

54 Marginal Productivity theory is based on which assumption?

AT IcTaaar Fgia STedT Jfadaray T e ?

(A)Perfect competition (B)Full employment (C)Profit maximization
55....... is a free natural gift.

........ LeE TR G I B E R el
(A)Capital (B)Land (C)Lab our

rsaer THA ST
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(D)AIl of these
RIEEIR:nI Y

(D)None of these
T ATET



56 Cash wages are called........ wages.
T HSIAT ... AT S FE 0T

(A)Monetary (B)Non-Monetary
e Eri-cn

57 Modern Theory of Rent was proposed by-

(A)Edge worth (B)Dr. Marshal

58 Trade Unions are related with-

(A)Land (B)Capitakisaer
ke

59 According to Ricardo, supply of land is ..........

(A)Limited (B)Unlimited
TR TR

60 The concept of Quasi-Rent was given by .........
SNV WS 9T Hehedq T I Bl .

(A)Alfred Marshall (B)Adam Smith
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(C)A and B
sremfora

(C)Taylor

(C)Market

EISIES

(C)equal

(C)Taylor

(D)None of these
A ATE

(D)Trucker
TH

(D)Lab our
Eiten

(D)None of these

T e A A

(D)Trucker
TH



